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2.542 x 10 =

5.473 x 1000 =

4.866 x 1000 =

1.155 x 10000 =

7.642 x 100000 =

8.682 x 1000 =

3441 x 10 =

10.448 x 100 =

5.948 x 10000 =

10.108 x 100000 =

=N e

1.666 x 100 =

1.645 x 10000 =

2.304 x 10 =

5.802 x 10 =

2493 x 100 =

10.304 x 1000000 =

3.17x10 =

7.867 x 1000000 =

3.608 x 100000 =

6.668 x 10000 =
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2.542 x 10 = 2542

5.473 x 1000 = 5473

4.866 x 1000 = 4866

1.155 x 10000 = 11550

7.642 x 100000 = 764200

8.682 x 1000 = 8682

3.441 x 10 = 34.41

10.448 x 100 = 1044.8

5.948 x 10000 = 59480

10.108 x 100000 = 1010800

=LA

1.666 x 100 = 166.6

1.645 x 10000 = 16450

2.304 x 10 = 23.04

5.802 x 10 = 58.02

2.493 x 100 = 249.3

10.304 x 1000000 = 10304000

3.17x10=31.7

7.867 x 1000000 = 7867000

3.608 x 100000 = 360800

6.668 x 10000 = 66680
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